2.3 I & = 9\?#&?\-&5 _=>a\=m:3
S S R S S N 1 EoNTera
- E = -fov&x = -5 2531
o =z = a/é—e)h(—)_)"w(—z)l -Jg
::) :S'Wﬂﬁ.%a‘ g o Q‘g//uu‘_ ‘:':;) /‘0\9/‘?\5-),.\}4;_4‘ ﬁ&jf‘-g < O~
et J\/Cuum_
o= 35 <)
oorle | = canti ] ) 2 = e L | CRVE  BTSTR E Y
[ ~Le] [ £ | R
= -—-—-g ~ N~ o
Vg 2 A C) = 45,9
(Z1S = (B2 121F - 11B]1T) cor
SL

= TN+ (i ) 2 T VT oy
4

=/ = i o
g e ) e =3 ekl 1 9LS 1

A=(181;0;0)
B =L gk 00
p o= (0 i s L)

Pr = 1848 -233,83
PR = [Sﬁ*{é_—&’l(?‘-f;
\IK
Og}oﬂ = C‘G\G’(‘PE,PFE) = P!’Q" PB L __9 A = S‘/,}O |
PE( 1PB
1, Rodagels
a I |
2 = ad ~ k< L - RIVINEN DETERM INAN TT
- o
ol
RS | -
L = Xy R -ffa}g + 2y A




